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BIX ZHESPT 1,346 1,435 2,181 647 716 1,363 49.01
F2X TIHEE 882 956 1,838 436 516 952 51.80
B3IX RELE 513 557 1,070 257 291 548 51.21
BAX JiE/\EE=T 400 489 889 254 299 553 62.20
BO5X mEiR/\EESAT 386 470 856 245 287 532 62.15
BOX BEPFKR 1,514 1,735 3,249 632 712 1,344 41.37
BIX HMEEZPT 274 316 590 211 230 441 714.75
FBEX WBEXFT 132 143 275 82 92 174 63.27
FBOX EHAERPT 173 183 356 124 141 265 714.44
FB10X |UHER 230 283 513 140 169 309 60.23
BITX BIERM 650 715 1,365 361 400 761 55.75
FB12XK BFEFHER 2,070 2,293 4363 813 923 1,736 39.79
FI13X BERIS2=T4—K—IL 2,125 2,993 5718 1,242 1,375 2,617 4577
BI14X BFEBZTHEXMT 1,916 2,103 4019 809 876 1,685 41.93

3 B gl &% B & 852 1,128 1,980

=) B 13,211 14671 27,882 7,105 8,155| 15,260 54.73

B & j & B X 53.78 55.59

H2 1Tz =& e — MRS 12,8671 14063 26,930 71,842 8,805 16,647 61.82
2 & HITHESEE —BEE 12,397 13,363| 25,760 7,698 8,733 16,431 63.78
H13ETzZ =& S —RESE 10,005] 10,809 20,814 6,705 71,6201 14,325 68.82




